AFTER TEN YEARS—Report of the First American Trade Union Delegation.

PAPER 50c-CLOTH \$1.00

Report of the First American Rank and File Labor Delegation to Soviet Russia 25 Cents

MISLEADERS OF LABOR By William Z. Foster

Outlining a program for freeing labor from its false leaders and welding the trade unions into powerful fighting organizations. CLOTH \$1.75



WRECKING THE LABOR BANKS—By WM. Z. FOSTER The collapse of the Labor Banks and Investment Companies of the Brotherhood of Locomotive Engineers.

25 CENTS

WORKERS LIBRARY PUBLISHERS 39 East 125th Street New York, N. Y.

#### TABLE OF CONTENTS

NATIONAL AND COLONIAL REVOLUTION. By V. I. Lenin 38 AMERICA DISCUSSES THE OPPOSITION. By Bertram D. Wolfe 44

CHEMICAL WARFARE. By Robert Macdonald . . . . 58

# The **COMMUNIST**

A Theoretical Magazine for the Discussion of Revolutionary Problems

Published for the Workers (Communist) Party of America

#### BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL. VII	FEBRUARY, 1928	No. 2
VOL. VII	redruari, 1720	140. 2

### Table of Contents

THE PRESIDENTIAL ELECTIONS IN THE U.S.	•	•	•	67
V. I. LENIN				
HERBERT HOOVER	•	•	•	69
H. M. WICKS				
THE PRESENT ECONOMIC SITUATION	•	•		75
JAY LOVESTONE				
CAPITALIST EFFICIENCY "SOCIALISM"	•	•	÷	90
WM. Z. FOSTER				
THE CRISIS IN THE UNITED MINE WORKERS	•	•		105
WM. F. DUNNE				
AMERICA DISCUSSES THE OPPOSITION	•			110
BERTRAM D. WOLFE				

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

# The **COMMUNIST**

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published for the Workers (Communist) Party of America

### BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL. VII	March, 1928	No. 3

### Table of Contents

BOOK REVIEWS	190
LITERATURE AND ECONOMICS	181
SAVE THE MINERS' UNION CALL	175
CAPITALIST EFFICIENCY "SOCIALISM"	169
ATHEISM AND EVOLUTION	160
AFTER THE CANTON UPRISING John Pepper	154
RUTHENBERG AS FIGHTER AND LEADER Jay Lovestone	145
THE PROLETARIAT AND WAR	141
MARX, LENIN AND THE COMMUNE	133
AMERICA AND RUSSIA	131

Make all checks, money orders, and correspondence to: THE COMMUNIST. 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published for the Workers (Communist) Party of America

1

#### BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL. VII	April, 1928	No. 4
Ta	able of Contents	
TASKS AND LESSONS (	OF 'THE MINERS' STRUGGLE William Z. Foster	195
HOW LENIN WORKE	D	201
PRACTICAL PHASES O	OF THE LABOR PARTY CAMPA Jay Lovestone	IGN 205
AMERICA AND THE INTERNATIONAL	TACTICS OF THE COMMUN John Pepper	NIST 219
	NEW TAMMANY HALL	229
UNEMPLOYMENT IN	GREAT BRITAIN	236
THE YOUTH AND TH	IE ELECTIONS	242
LITERATURE AND E	CONOMICS	247
BOOK REVIEWS .		. 252

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

3

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America

BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL.	VII	MAY, 1928	No. 5

### Table of Contents

MAY DAY, 1928	259
MAY DAY	262
THE PRESENT SITUATION IN THE LABOR MOVEMENT Jay Lovestone	265
TWO MINE STRIKE STRATEGIES	279
PACIFISM AND WAR	285
CERTAIN BASIC QUESTIONS OF OUR PERSPECTIVE John Pepper	. 297
ENGELS ON THE AMERICAN LABOR MOVEMENT A. Landy	307
BOOKS	314
Make all checks, money orders, and correspondence to: THE COMM 43 East 125th St., New York. Subscription rates \$2.00 a year: \$1.25 for six mu	UNIST,

43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America

BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

		the second s		
VOL. V	VII		JUNE, 1928	No. 6

### Table of Contents

THE MINING CRISIS DEEPENS	323
A PROGRAM OF ACTION FOR AMERICA John Pepper	327
SIX YEARS	340
THE LABOR MOVEMENT IN AMERICA	346
THE ECONOMICS OF AMERICAN AGRICULTURE A. B. Richman	355
DE LEONISM AND COMMUNISM	364
A PROGRAM ON UNEMPLOYMENT	374
LITERATURE AND ECONOMICS	378,
BOOKS	382

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America

### BERTRAM D. WOLFE, Editor

5

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL. VII	July, 1928	۲	No. 7
<u>,</u>	Table of Contents		*
PLENUM MATER	RIAL	• •	387
RESOLUTION	N ON TRADE-UNION WORK	•	388
OLD UNIONS	S AND NEW UNIONS Wm. Z. Foster	••	39 <b>9</b>
TRADE-UNIC	ON QUESTIONS James P. Cannon	•••	406
	N ON THE REPORT OF 7 L COMMITTEE	ГНЕ 	413
SOME IMME	DIATE PARTY PROBLEMS Jay Lovestone	• •	421
WILLIAM D. HA	YWOOD—"Undesirable Citiz J. Louis Engdahl	en"	434
SOME ASPECTS BEDFORD	OF THE SITUATION IN NI Albert Weisbord	E <b>W</b> 	442
BOOKS		• 4	451
SELF STUDY CO	RNER	•••	455

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America

### BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

VOL. VII	AUGUST, 1928		· · · ·	No. 8
·	Table of Content.	S		
BIG BUSINESS C	CAN'T LOSE IN 192 Benjamin Gitlow		•••	467
GIANT POWER	Bert Miller			473
THREE STRATE	GIES IN NEW BED Albert Weisbord	FORD S	<b>FRIK</b>	E 481
MEXICO'S NEXT	Г PRESIDENT Janet Cork	•••	•••	486
	F THE HOME GOV ALIST WAR V. I. Lenin	ERNME		N 491
YOUTH AND IN	NDUSTRY Nat Kaplan	• • • •	• • •	496
DE LEONISM AN	ND COMMUNISM Karl Reeve	• • •	•••	500
UNEMPLOYMEN	NT IN FRANCE C. White	••••	• •	506
NOTES ON AME	RICAN LITERATUI Joseph Freeman	RE .		513
BOOKS	• • • • • • • •			521
SELF-STUDY CO	DRNER			523

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America BERTRAM D. WOLFE, Editor

VOL. VII	September, 1928 N	o. 9
	SMITH—MOUTHPIECES OF BIG — ACCEPT THE NOMINATION . Benjamin Gitlow	531
POLITICS AND	) THE FLY HUNT Moissaye J. Olgin	538
THE PRESIDEN	TIAL ELECTIONS OF 1928 Arne Swabeck	548
OBREGON ASS.	ASSINATED Janet Cork	555
	EASTMAN'S "MARX, LENIN AND NCE OF REVOLUTION A. Chilk	561
UNEMPLOYMI	ENT IN FRANCE	565
NOTES ON AM	ERICAN LITERATURE Joseph Freeman	570
SELF-STUDY C	ORNER	579
BOOK REVIEW	7 <b>S</b>	591

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

Ŷ

Y

A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America BERTRAM D. WOLFE, Editor

VOL. VII	Остовек, 1928	No. 10
"THE SOCIALIST	T PARTY OFFERS ITSELF" Moissaye J. Olgin	595
	HT FOR WORLD HEGEMON VAR DANGER JAY LOVESTONE	Y 605
	MINERS' UNION— CEPTION OF UNIONISM Arne Swabeck	62 <b>2</b>
AMERICAN NEG	RO PROBLEMS John Pepper	628
LATIN AMERICA QUESTION	A AND THE COLONIAL Bertram D. Wolfe	639
BOOK REVIEWS	· · · · · · · · · · ·	651
SELF-STUDY CO	RNER	654
STATEMENT OF	OWNERSHIP	656

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### E COM T

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America

### BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.					
VOL. VII	November, 1928		No	<b>b.</b> 11	
	WORLD CONGRESS OF THE NIST INTERNATIONAL Jay Lovestone		•	659	
THE WORKE IN THE S	RS (COMMUNIST) PARTY OUTH Wm. Z. Foster			676	
AGAINST TH	E THEORY OF "DECOLONIZA John Pepper	ATIC	)N"	682	
ON THE THR	ESHOLD OF THE TWELFTH Moissaye J. Olgin	YE.	AR	690	
EUGENE VIC	TOR DEBS		•	700	
SELF-STUDY	CORNER	•	•	714	
BOOKS .	•••••	•	•	720	

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.

### A Theoretical Magazine for the Discussion of Revolutionary Problems

Published by the Workers (Communist) Party of America BERTRAM D. WOLFE, Editor

Entered as second class matter November 2, 1927, at the Post Office at New York, N. Y., under the act of March 3, 1890.

))

VOL. VII	December, 1928	No	<b>b.</b> 12
THE RIGHT DA	NGER IN THE COMINTERN . Bertram D. Wolfe	•	723
RESULTS OF TH	IE ELECTIONS JAY LOVESTONE	•	736
	OUTLOOK FOR THE WORKE ) PARTY —A Discussion Artic Scott Nearing		756
	FARM—A DISCUSSION ARTICI Y AND THE FARM PROBLEM "Harrow"	.Е	761
THE NEGRO AN	D THE TRADE UNIONS Otto Huiswoud	•	770
HISTORY OF TR	RADE UNIONISM IN THE U.S. Earl Browder	•	776
BOOK REVIEWS	S	•	781

Make all checks, money orders, and correspondence to: THE COMMUNIST, 43 East 125th St., New York. Subscription rates \$2.00 a year; \$1.25 for six months; foreign and Canada \$2.50 a year. Single copies 25 cents.